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H iy = °C °C °C °c

1 X 166 161 1,433 1,523
2 K 166 161 1,477 1,591
3 R 165 161 1,514 1,550
4 & 165 161 1,457 1,533
5 T 164 161 1,434 1,558
6 H 165 160 1,593 1,656
7 A 164 160 1,523 1,577
8 X 166 161 1,418 1,513
9 K 163 160 1,355 1,467
10 VN 163 160 1,377 1,472
1 & 164 160 1,439 1,498
12 t 164 161 1,437 1,470
13 H 164 161 1,412 1,492
14 A 166 161 1,418 1,523
15 U 164 161 1,369 1,442
16 K 166 162 1,371 1,609
17 N 167 162 1,619 1,670
18 & 167 163 1,598 1,643
19 T 166 163 1,404 1,512
20 H 168 163 1,364 1,435
21 A 167 164 1,404 1,434
22 X $okok $okk $okk $okk
23 K *okok *okok *okok *okok
24 /N skokok kokok skokok skokok
25 el kekok *kokk skokok *kokok
26 T *okok *okok *okok *okok
27 A skokok *kokk skokok *kokk
28 J=| *okok *okok *okok *kkok
29 N koksk ksksk koksk ksksk
30 X koo ek *okok *kekok
31 x koksk ksksk koksk ksksk

AT - 161 - 1,532
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